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@® 25km? = 2500a @ 4.9a =490ha
® 6800000m? = 680 a @ 0.54ha = 5400 m?

3 370a = 3.7m?2



@ 90000 cm? = 9 m?
® 4.5m? = 450000 cm?

3 10m2 = 100000 cm?

@ 23m? = 230000 cm?

@ 35000 cm? = 3.5 m?



14. b5 FHot A o=

@D 0.21ha
® 5800a

B 1.41 km?2

@ 3000 cm x 45 m

@ 1.43km?2



@D 0.75km?
® 80000a

3 100m x 3000 cm

@ 100m x 4000 cm

@ 25ha



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 Bio]T},

® 380kg + 4200 g = 380.42kg
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300g > @kg

58t =Qkg=®@g
4600g = 4.6kg = Ot

@® 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046



18.

A&t 57129 7182 ZAste] |55 B4
7o) bt B w7t

Az | oA | eX

A& | 19°C | 24°C | 25°C

A71= | 16°C | 21°C | 25°C

® A7%7k 200 § U
@ #7157} 5°C o Bt
® B71=7}5°C o B
@ Aol 2°C o WUth.

B ML) 5°C ¢ =&Y},



A S 6L Tl o AL, U= 22554

19. Hgoli 25229 S3HAL 69 3
5ot ot 19Tk Sr7h shiel 2 24 o 9l g

see 54

Y7k

© egolrt el 3 24 o
@ wgolst telet 5 %4 o
® a7t ggel et 3 24 | 9
@ e} gdolnct 5 %4 o 9
® U7} gololHT) 6 24 o

4o,

>
i
o

4o,

of>
T
o

f
i
k)

2 ¥ 22 @ X2
)Y
v
o

ol
T
o

O,



Pl stauc g

T2 HERALL,

oA 2789 gHe 3
o
o=

s

— | O

— <

— |

a |

— ™



12 st

2 GERjAL.

|64k FN4 23] B 4
o

— <t

— ™

— |



22,

FoI o] 25 7450] 471, W3 F0] 870, et 0] 27,
&0 37) Sol gtk of FoUeIA & A4S AL u,
0] ol Hetol 22 Fgolt @ Ta0l e A

5]
2=
gg 52
e A2 o8 FolH DAL,



23.

FolU ol A4 BISE 5749 A8 R E 347k Sol iUt
o FO|UoA HFEES & A A o, B4 vFE S| e sy e

T2 ERfA L.

@ @

0| ot
oo | w
©)
DO | =
®
=~ w



24. Aavpgyete] a4k 370, AA7F 110, Fukrk 7 Sl Y
ot a2 AE A o, FukE A 7Hs S = YERAL L.

@ ®

~lw
TS



@ 240a =2.4ha @ 0.12km? = 1200 a
@ 97.2ha = 972000 m?2 @ 3140a = 3.14ha

3 3500000m2 = 3.5 km?
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( )qtoll dur2 @& A= 13 A2 oL ZARIA] 2L
3700000( ) = 370( )= 3.7 km?

® m?, cm? @ m? a ® m? ha

@ ha, m? ® a, ha
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© 12ha @ 1200000 m?

3 1200000000 cm?
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® 220ha @ 2200000 m?
@ 0.22 km? @ 220000 a

3 22000000000 cm?
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